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Find the factors and factor pairs for 8.

1 group of 8 or 8groupsof1
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2 groups of 4 or 4 groupsof 2

i The factor pairs are The factors of 8 are 1, 2, 4, and 8.
! land8,2and4

~__and 46
_and 23

10. 72 11. 57 12. 10

13. 7 14, 60 15. 66
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Silvia has 45 cans of paint to put on shelves. Each shelf g%%ﬂ@ﬁﬁ@ﬁ
can hold up to 15 cans of paint. Each row must have the E%@&g;g‘%gﬁa;

same number of cans on the shelf. How many different
ways might Sylvia put the cans on the shelves?

Tell how you can generalize to find how
many different ways Silvia can put the
cans of paint on the shelves. & pee

« I canlook for things that repeat in a problem.
« tcan look for shortcuts.

+ | can generalize from an example.

Find the factors of 45. Pt

55X 9=45and9 X 5 = 4%
2, 4, 6, 7, and 8 are not factors.

The factorsof 45 are 1, 3, 5, 9, 15, and 45.

mmmmmmmmw‘mwﬁwﬂlmlmlmmﬂmhmﬁmmmmmmmmmwnmmmﬁm!!

Silvia can put the cans of paint on 5 shelves with 9 cans on each
shelfor 3 shelves with 15 cans on each shelf.

Geﬁeﬁ‘aizze

An auditorium has rows of seats with 8 seats in each row. Kayla
knows there are at least 70 seats but fewer than 150 seats in the
auditorium. How many rows of seats can there be in the auditorium?
Use Exercises 1-3 to answer the question.

1. Explain how you would find the least possible number of rows
in the auditorium.

2. How would you find all the possible numbers of rows, without
having to check if 8 is a factor of every number between
70 and 1507

3. Name all the possible numbers of rows in the auditorium.
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When you generahze,
you ook for s*eps i

1 X 45 =45and 45 X 1 = 4%
3X 15 = 45and 15 X 3 = 45 fhaf repeuf
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Another Look!
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g Is 15 a prime or a composite number? Is 29 a prime or a composite number? g
E Find all the factors of 15. Find all the factors of 29,
| Factorsof15:1,3,5,15 Factors of 29: 1, 29 i
:
15 is a composite number because it 29 is a prime number because it only has

has more than two factors. two factors T and the number ltsehc
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3.8 4, 4

8. 93
9. 53 10. 87 11. 13 12, 27
13. 88 14. 19 15. 69 16. 79
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What are some multiples of 7: char+ o 'Find mulhples N
f\«\

Step 1 Find the column (or row) for 7 il

Step 2 All the numbers in that column .n.
(or row) are multiples of 7. .

i

In the chart, the multiples of 7 are
7,14, 21,28, 35,42, 49, 56, and 63.
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7,14, 21, 28, 35,42, 49, 56, and 63
are multiples of 7 because 1 X 7 =7,
2 X7=14,3 X 7=21,and so on.
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\ For 1—8 wnte ﬂve multlpies of each number 'ff'

1. 12 2. 18 3. 40

5. 100 6. 25 7. 50

' For 9—20 teEI whether the frst number is a mu!tlple of the second number

L

9. 21,7 10. 28,3 1. 17,3 .

13, 55,5 14. 15,5 5. 26,4

17. 48,7 18. 60, 2 19. 79,4
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